CRG PARTS LIST 2025

TRACK RODS

ES COD ITEMS ITEMS PRICE (%)
2 FAN.01808 440yF/IA%42°Y 165mm Black Hexagonal Track Rod Cm.16,5 ¥ 5,720
2 FAN.00718 4409k /A%43°Y 190mm Black Hexagonal Track Rod Cm.19 ¥ 5,720
2 FAN.00717 440yF/IA%43°Y 200mm Black Hexagonal Track Rod Cm.20 ¥ 5,720
2 FAN.01441 4409k /A%43° 210mm Black Hexagonal Track Rod Cm.21 ¥ 5,720
2 FAN.00995 44nyp/A%#3°Y 220mm Black Hexagonal Track Rod Cm.22 ¥ 5,720
2 FAN.00546 4409k /A%43°Y 230mm Black Hexagonal Track Rod Cm.23 ¥ 5,720
2 FAN.00813 44nyp/A%#3°Y 240mm Black Hexagonal Track Rod Cm.24 ¥ 5,720
2 FAN.00814 44098 IA%¥3°Y 250mm Black Hexagonal Track Rod Cm.25 ¥ 5,720
2 FAN.00822 440yN/A%$3’y 260mm Black Hexagonal Track Rod Cm.26 ¥ 5,720
2 FAN.00815 4409k /A%43°Y 265mm Black Hexagonal Track Rod Cm.26,5 ¥ 5,720
2 FAN.00612 44nyp/A%#3°Y 270mm Black Hexagonal Track Rod Cm.27 ¥ 5,720
2 FAN.00816 4409k /A%43°Y 275mm Black Hexagonal Track Rod Cm.27,5 ¥ 5,720
2 FAN.00045 44nyh/A%$3’y 280mm Black Hexagonal Track Rod Cm.28 ¥ 5,720
2 FAN.02027 44098 IA%¥3°Y 285mm Black Hexagonal Track Rod Cm.28,5 ¥ 5,720
2 FAN.02028 44nyh/A%$3°Y 330mm Black Hexagonal Track Rod Cm.33 ¥ 5,720
3 AFS.0047D Yook AR -MR Ball Joint Rh
4  AFS.0047S a4y £ AR -/ Ball Joint Lf

44myk 9k M8 (RIL) v 44
5 FBN.00252 44AyFN AN —%— 8.5x16x5 Spacer 8,5-14x 5 Track Rod ¥ 440

AERmO - R FEKERTHHENHYET

37



CRG PARTS LIST 2025

STUB AXLE 10*25 CASTER NEW

ES COD

A FKO0.02352
FK0.01608
FK0.02353
AFS.04659
AFN.02389
AFS.02352
AFN.02390
AFS.02353
FZ0.02450
FZ0.01602
AFN.01637
AFN.00657
AFN.02393
FZ0.01769
FZ0.01719
FZ0.01607

© oo ~NOO O~ wNE T

el
W N P O

2 3 ' 2 2 3 ' 2
5 5
Vo~ O/‘
4 4
e~ Q e Q
-—, &6
7 — 7 —
&.’ &'.‘
6 = ¢ =9
8 o™ 8 o™~
R Y &
"0 & "0 -
- 12 _an 13
w@._. -~ 't L
ITEMS ITEMS

SNIPER 734 *Y+7Y %Ak KZ Comp
SNIPER 734 #Yb7Y %Ak DD Comp
SNIPER 734 #Yb7YA7h UP/SIDE
¥Y%°E’Y 10x111 SNIPER (BLK)
$51° k M4x10 SNIPER

774 *UhA=27°b—b SNIPER

41£2Y" M5x10 SNIPER

T4 7Y 2 AM7°V—b SNIPER
¥U9°E'V7'yvvy D10 SNIPER

734 #Yh7Y v Ak D10/1H SNIPER
¥ E'YI9¥%— 10.5x20x2

ay4+9h M10/Low

F4ryAys+yk M1O/HIGH
F9HNTY AR 4N D10/3mm
F9INTY % APAA—H— D10/6mm
FIVTY % AN 4N D10/6mm

AERmO - R FEKERTHHENHYET 38

Sniper caster system new complete KZ
Sniper caster system new complete DD
Sniper Caster System New UP-Side
Stub axle bolt 10x111 new

M 4x 10 Countersunk Head Screw
Caster Plate Support A

Grub M 5x 10 Double Caster

Caster High Plate B

Bushing Half Caster

Spherical Fixed Cam

Washer 10,5-20x2

Nut M10 low self-locking

Nut M10 high self-locking

Stub Axle Spacer 10-28x3 Plaine

Stub axle space 10-28x6 conical

Stub axle space 10-28x6 plain

PRICE (%)
¥ 26,400
¥ 26,400
¥ 16,940
¥ 2,530
¥ 132
¥ 4,400
¥ 176
¥ 2,090
¥ 1,430
¥ 2,640
¥ 110
¥ 110
¥ 110
¥ 1,100
¥ 1,100
¥ 1,100



CRG PARTS LIST 2025

STUB AXLE MINI CASTER NEW

ES COD

© 0O ~NOoO U~ WNPE D>

o =
= o

FK0.01017
FBN.02391
AFN.02408
AFS.02352
AFN.02390
AFS.02353
FZ0.02666
FZ0.03152
Fz0.03147
S70.03559
AFN.00108
AFN.00128

A
fl |
1 1
2 3 P 5 2 3 D I
Q. O,
4 4 =
¥ 4 C) ¥ 4 @
6 g 6 o
76’\._’9 79‘.(“
: ¢ : ¢
I - & -
S g S gy
o
6 6 s
10 : 10 _’-‘/
1" - " -
ITEMS ITEMS

SNIPER Mini 754*vMAT4A Comp (R/L)
%Y9°t’y 8x110 SNIPER

#58 Wh M4ax 8 SNIPER

774 UhA=A7°b—b SNIPER

41£2Y" M5x10 SNIPER

T4 7Y 2 AR V—b SNIPER

£V’ E'v7'yYvy” D8 Mini SNIPER
F9HNTY % AR 4V D8/3mm Mini
F9HNTY 2 AFAA’—H— D8/6mm Mini

AERmO - R FEKERTHHENHYET 39

Sniper Caster System Mini D 8 Comp
Stub Axle Bolt Mini 8x110 Black
M 4x 8 Countersunk Head Screw
Caster Plate Support A

Grub M 5x 10 Double Caster
Caster High Plate B

Bushing Half Caster

Stub Axle Spacer 8-28x3 Plane
Stub Axle Spacer 8-28x6 Con.
Fixed carter mini kart

Washer 8,5-18x2

Nut M8 high self-locking

PRICE (F{iA)

¥
¥
¥
¥
¥
¥
¥
¥
¥
¥

¥

26,400
1,870
132
4,400
176
2,090
1,430
1,100
1,100
2,640

66



CRG PARTS LIST 2025

STUB AXLE 8-17

ES COD

FZ0.01603
FBN.01197
FBN.00176
FBN.02391
FBN.00064
SBN.00089
SL1.00056
SL1.01043
FAN.00068
FAN.00066
AFN.00055
AFN.00278
FZ0.02666
AFS.02353
AFS.02352
FZ0.03152
FZ0.03147
S70.03559
AFN.00108
AFN.00128
AFN.01564
AFN.00058

© 00 ~NO U WN P

NNNR R R RRRRRR R
Nk, O©®wNOoOUWuhMwRNLEO

ITEMS
F9INTFAATY %R D10/SH
29"ty Puffo 8x75

%9’y Mini 8x85 Black

%Y9°t’y 8x110 SNIPER
F9HNTY 2 AMIYYr— 8.5x18x4
Y9t vh3— 7mm

£U9°t'vh3— 12mm STD

V9 vh7— 8x26 MINI

k4= H3— D17/4mm Black
k{—IH7— D17/8mm Black
FYILNTYVY 60822
T7420bR9Y2— M4x6

£V’ E'v7'yYvy” D8 Mini SNIPER
T4 7Y 2 AM7°V—b SNIPER

734 Vb =27°b—b SNIPER
F9HNTY % AR 4V D8/3mm Mini
F9HNTY % AFAA—H— D8/6mm Mini

F99hFybI9e— 15x29.5x2.5
T9o+9k M14

AERmO - R FEKERTHHENHYET

40

12 ' 12
e ® 13 =
‘_ ._- 1B
11 5
17 &
16 "
Completo 1 o
Complete e
—
. 10 ="
N == %
2 2 .‘ ' 2 | \ " -
18
13
19
20
ITEMS

8 Hole Spherical Cam

Stub Axle Bolt 8x 75 Black
Stub Axle Bolt 8x 85 Black
Stub Axle Bolt Mini 8x110 Black
Spacer 8,5-18x 4 Stub Axle
Stub Axle Int.Spacer 8x7 Black
Stub Axle Int.Spacer 8x12
Stub Axle Int.Spacer 8x26 Mini
Stub Axle Spacer 4mm Black
Stub Axle Spacer 8mm Black
608 Bearing For Spindle

M 4x 6 Socket Head Screw
Bushing Half Caster

Caster High Plate B

Caster Plate Support A

Stub Axle Spacer 8-28x3 Plane
Stub Axle Spacer 8-28x6 Con.
Fixed caster mini kart

Washer 8,5-18x2

Nut M8 high self-locking
Washer 15-30x2,5

Nut M14x 1,5 Self-locking

PRICE (F{iA)

KKK KKK KKK KK KKK KKK K

KK K

3,850
1,870
1,870
1,870
440
440
440
440
715
1,045
440
99
1,430
2,090
4,400
1,100
1,100
2,640

66
165
231



CRG PARTS LIST 2025

STUB AXLE 10*25

ES COD

AFS.04659
AFN.02389
FZ0.02450
AFS.02353
AFS.02352
FZ0.01769
FZ0.01607
FZ0.05150
Fz0.01770
AFN.00959
SBN.01605
FZ0.01602
AFN.01637
AFN.02393
FAN.01739
FAN.01738
AFN.01564
AFN.00058

© 00O ~N~NOO O~ WNPRE

el o =
o Ulh WNPRER O

ITEMS
¥Y%°E’Y 10x111 SNIPER (BLK)
#38 Lk M4x10 SNIPER
¥U9°E'V7'yvvy D10 SNIPER

T4 7Y 2 AM7V—b SNIPER
734 *UhA"=27°b—b SNIPER
FINTY AN /M D10/3mm
F9INTY v AN 4} D10/6mm
F9INTY R APAA —H#— D10/6.35mm
F9INTY v APAN =% — D10/3mm
F9HA"TYYY" 60002Z D10

¥ E'vh3- D10

734 #Yh7Y v Ak D10/1H SNIPER
¥ E'YI9¥%— 10.5x20x2
+4rvRyyFyk M10/HIGH

K4 Vh3— D25/8mm Black

k4 Wh3— D25/4mm Black
F9H0FybIyse— 15%29.5x2.5
T99 Tk M14

AERmO - R FEKERTHHENHYET

41

ITEMS

Stub axle bolt 10x111 new

M 4x 10 Countersunk Head Screw
Bushing Half Caster

Caster High Plate B

Caster Plate Support A

Stub Axle Spacer 10-28x3 Plaine
Stub axle space 10-28x6 plain
Stub axle space 10-28x6,35 conical
Stub Axle Spacer 10-28x3 Conical
Bearing 6000 Stub Axle Bolt

Stub Axle Internal Spacer 10x24
Spherical Fixed Cam

Washer 10,5-20x2

Nut M10 high self-locking

Stub Axle Spacer 25 8mm Black
Stub Axle Spacer 25 4mm Black
Washer 15-30x2,5

Nut M14x 1,5 Self-locking

PRICE

KKK KKK KKK KKK KKK KKK

(Bid)
2,530
132
1,430
2,090
4,400
1,100
1,100
1,100
1,100
660
440
2,640
110
110
1,155
935
165
231



CRG PARTS LIST 2025

STUB AXLES

ES COD ITEMS ITEMS PRICE (F#)
1 FMO0.0719D Stub axle miniclass rh complete

1 FMO0.0719S Stub axle miniclass |h complete

2 FM0.2008D Stub axle V08 8-17 rh complete

2 FMO0.2008S Stub axle V08 8-17 |h complete

3 FMO0.1337D +99) HERO 4H R/Comp Stub Axle Mini comp Rh HERO ¥ 25,520
3 FMO0.1337S +949) HERO 4H L/Comp Stub Axle Mini comp Lf HERO ¥ 25,520
4  FMO0.2870D +9%) DD RX 1H R/Comp B 10.25 Stub Axle DD RX 10-25 Rh Comp.B 10.25 ¥ 29,150
4  FMO0.2870S +94) DD RX 1H L/Comp B 10.25 Stub Axle DD RX 10-25 Lf Comp.B 10.25 ¥ 29,150
5 FMO0.2866D +94) DD D25 4H R/Comp D 11 Stub axle DD 10-25 rh 4H complete D ¥ 29,150
5 FMO0.2866S +94) DD D25 4H L/Comp D 11 Stub axle DD 10-25 If 4H complete D ¥ 29,150
5 FMO0.1754D +94) DD D25 4H R/Comp B 10.25 Stub Axle CRG KF 10-25 Rh Comp.B ¥ 29,150
5 FMO0.1754S +94) DD D25 4H L/Comp B 10.25 Stub Axle CRG KF 10-25 Lf Comp.B ¥ 29,150
5 FMO0.2000D Stub axle DD 10-25 rh 3H complete C CADET

5 FMO0.2000S Stub axle DD 10-25 If 3H complete C CADET

6 FMO0.5124D +949)k DD RX2 2H R/Comp B 10.25 Stub axle CRG KF 10-25 RH RX2 B ¥ 29,150
6 FM0.5124S +94) DD RX2 2H L/Comp B 10.25 Stub axle CRG KF 10-25 LF RX2 B ¥ 29,150
6 FMO0.5125D Stub axle CRG KF 10-25 RH RX2 D

6 FMO0.5125S Stub axle CRG KF 10-25 LF RX2 D

AERmO - R FEKERTHHENHYET 42



CRG PARTS LIST 2025

STUB AXLES

4

&

: ¥ : § 2 3

ES COD ITEMS ITEMS PRICE (F#A)
1 FMO0.5130D Stub axle CRG KZ V11 10-25 RH RX2 B

1 FMO0.5130S Stub axle CRG KZ V11 10-25 LF RX2 B

1 FMO0.5131D Stub axle CRG KZ V11 10-25 RH RX2 D ¥ 30,030
1 FMO0.5131S Stub axle CRG KZ V11 10-25 LF RX2 D ¥ 30,030
2 FMO0.2868D +99) V09 KZ RX 1H R/Comp D 11 Stub Axle KZ RX 10-25 Rh Comp.D 11.0 ¥ 30,030
2 FMO0.2868S +99) V09 KZ RX 1H L/Comp D 11 Stub Axle KZ RX 10-25 Lf Comp.D 11.0 ¥ 30,030
2 FMO0.3515D Stub axle V09 KZ RX 10-25 rh complete B

2 FMO0.3515S Stub axle V09 KZ RX 10-25 If complete B

3 FMO0.2865D +94) VO5 KZ D25 3H R/Comp Stub Axle CRG KZ 10-25 Rh Comp.D ¥ 30,030
3 FMO0.2865S +94) V05 KZ D25 3H L/Comp Stub Axle CRG KZ 10-25 Lf Comp.D ¥ 30,030
4  FMO0.4268D F99) V11 KZ RX 1H R/Comp Stub Axle KZ V11 10-25 Rh RX Comp ¥ 30,030
4  FMO0.4268S F991 V11 KZ RX 1H L/Comp Stub Axle KZ V11 10-25 Lf RX Comp ¥ 30,030

AERmO - R FEKERTHHENHYET 43



